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Answer 1

Where is most of the world’s
tobacco grown?

ANSWER c:
China is the biggest producer and
consumer of tobacco. Almost three 
quarters of the world’s tobacco is grown 
in developing countries. After China,
the USA is the next largest producer of
tobacco, followed by India, Brazil and
Turkey. 

Go to Question 7

Question 1

Where is most of the world’s
tobacco grown?

a) the United Kingdom
go to question 11

b) Africa
go to question 4

c) China
go to question 7

d) Spain
go to question 9

Question 2

Tobacco is a sensitive plant. 
It requires large amounts of

fertilisers and pesticides to grow.
What might this cause?

a) large beetles
go to question 8

b) pollution of the soil, streams 
and rivers
go to question 10

c) improved conditions for wildlife
go to question 6

d) a return of the hairy mammoth!
go to question 3

Answer 2

Tobacco is a sensitive plant. 
It requires large amounts of

fertilisers and pesticides to grow.
What might this cause?

ANSWER b:
The fertilisers and pesticides used to 
grow tobacco cause pollution. 
The chemicals in the fertilisers and
pesticides can get into the soil and
eventually cause pollution to streams,
rivers, drinking water and wildlife. 

Go to Question 10

Answer 3

Cigarette smoke contains gases
associated with the greenhouse

effect (global warming). 
Which gases?

ANSWER c:
Cigarette smoke contains methane and
carbon dioxide; these gases contribute 
to the global warming which has a
detrimental effect on the environment 
and ecosystems. 

Go to Question 4

Question 4

About 3 million people in the UK are exposed 
to passive smoking (breathing in smoke from 

other people’s cigarettes) while at work. 
In what type of work do you 
think people are most at risk 

of passive smoking?

a) in public transport
(e.g. on buses, the railways)
go to question 11

b) the catering and hospitality 
industry (e.g. restaurants, pubs, bars)
go to question 9

c) the armed forces 
(e.g. navy, airforce)
go to question 2

d) the health and caring professions
(e.g. nurses, doctors, social workers)
go to question 8

Answer 4

About 3 million people in the UK are exposed 
to passive smoking (breathing in smoke from 

other people’s cigarettes) while at work. 
In what type of work do you 
think people are most at risk 

of passive smoking?

ANSWER b:
Workers in the catering and hospitality
industry (in pubs, restaurants, cafes and
bars) are particularly at risk from passive
smoking. The government, trade unions and
the hospitality industry are trying to protect
workers and give people the choice to
socialise in smoke free areas by increasing
the smoke free space in pubs, bars and
restaurants.

Go to Question 9

Question 5

In which part of the world 
are smoking rates falling?

a) developing countries
go to question 8

b) developed countries
go to question 1

c) the new democracies of central 
and eastern Europe
go to question 4

d) Antarctica
go to question 10

Answer 5

In which part of the world 
are smoking rates falling?

ANSWER b:
Smoking rates are falling in developed
countries as people become more aware of
the health risks and as governments
discourage smoking by restricting where
people smoke, raising taxes on tobacco
products, educating the public and
introducing other measures. 

Go to Question 1

Question 6

The government of the USA
has promoted cigarette
smoking in developing

countries. 

a) true
go to question 12

b) false
go to question 5

Answer 6

The government of the USA
has promoted cigarette
smoking in developing

countries. 
ANSWER a:
True - the US government has promoted
smoking in developing countries. After the
Second World War the US government
exported $1 billion worth of tobacco to
developing countries through their ‘Food for
Peace’ programme. In the 1980s the US
government threatened trade sanctions
against countries that would not allow
American cigarettes to be advertised. 

Go to Question 12

Question 7

At the start of the 
21st century 3 million people
worldwide die each year as a

result of smoking. By 2020
will the death rate:

a) increase
go to question 11

b) stay the same
go to question 3

c) fall
go to question 8

d) reach zero
go to question 6

Answer 7

At the start of the 
21st century 3 million people
worldwide die each year as a

result of smoking. By 2020
will the death rate:

ANSWER a:
Increase - by 2020 it is estimated that 
10 million people will die each year as a
result of cigarette smoking. At the start 
of the 21st century 30% of smoking related
deaths occur in developing countries. 
By 2020 it is estimated 70% of smoking
related deaths will be in developing
countries. 

Go to Question 11

Question 8

How can cigarette smoking 
be discouraged?

a) educating people about the risks
go to question 6

b) health warnings on cigarette 
packets
go to question 4

c) increasing the price of cigarettes
go to question 11

d) all of the above
go to question 3

Answer 8

How can cigarette smoking 
be discouraged?

ANSWER d:
All of the methods mentioned are ways in
which smoking can be discouraged. 

What other methods can you think of?

Go to Question 3

Question 9

The UK government is banning
tobacco advertising. 

How do you think the tobacco
companies are getting around

the advertising ban?

a) breaking the law and continuing 
to advertise in newspapers and 
magazines
go to question 12

b) encouraging TV companies to 
place their cigarette packets so 
they can be seen in films and TV 
programmes
go to question 3

c) designing clothes with cigarette 
brand logos on them
go to question 6

Answer 9

The UK government is banning
tobacco advertising. 

How do you think the tobacco
companies are getting around

the advertising ban?
ANSWER c:
The tobacco industry spends around £57
million each year in the UK on advertising
and promotion. The UK government has
banned tobacco advertising. Cigarette
manufacturers have developed designer
clothing labels using cigarette brand logos
to ensure people remain aware of the
cigarette brands and associate them with
something that is considered attractive.

Go to Question 6

Question 10

Environmental Tobacco Smoke
(ETS) is also known as:

a) passive smoking
go to question 5

b) second-hand smoke
go to question 7

c) involuntary smoking
go to question 4

d) all of the above
go to question 8

e) none of the above
go to question 12

Answer 10

Environmental Tobacco Smoke
(ETS) is also known as:

ANSWER d:
It is also known as passive, second-hand
and involuntary smoking. There are two
ways in which ETS is created: by the
sidestream smoke from the burning tip of 
a cigarette and the mainstream smoke from
a smoker exhaling smoke. ETS is the major
source of indoor air pollution. 

Go to Question 8

Question 11

The production of tobacco
causes the destruction of

trees, leading to deforestation
in many parts of the world.
How are trees used in the
production of cigarettes?

a) the wood is smoked
go to question 12

b) to produce the cigarette 
packages
go to question 3

c) to cure (dry) the tobacco leaves
go to question 7

d) answers b and c
go to question 2

Answer 11

The production of tobacco
causes the destruction of

trees, leading to deforestation
in many parts of the world.
How are trees used in the
production of cigarettes?

ANSWER d:
Trees are destroyed in the production of
tobacco to produce cigarette packaging 
and to cure the tobacco leaves. In many
developing countries this leads to
deforestation. Even where the tobacco
manufacturers encourage farmers to plant
trees, the farmers may still use ancient
woodland for tobacco production.

Go to Question 2

Question 12

How many people could be
fed if the land that is used 
to grow tobacco was used 

to grow food?

a) 1 million people
go to question 7

b) 1.5 million people
go to question 2

c) 5 million people
go to question 3

d) between 10 to 20 million people 
go to question 5

Answer 12

How many people could be
fed if the land that is used 
to grow tobacco was used 

to grow food?
ANSWER d:
Between 10 to 20 million people could be
fed if food crops were grown rather than
tobacco. 

Go to Question 5

Question 3

Cigarette smoke contains gases
associated with the greenhouse

effect (global warming). 
Which gases?

a) methane and oxygen
go to question 10

b) carbon dioxide and hydrogen 
sulphide
go to question 8

c) methane and carbon dioxide
go to question 4

d) none of the above
go to question 1
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Answer 1

Where is most of the world’s
tobacco grown?

ANSWER c:
China is the biggest producer and
consumer of tobacco. Almost three 
quarters of the world’s tobacco is grown 
in developing countries. After China,
the USA is the next largest producer of
tobacco, followed by India, Brazil and
Turkey. 

Go to Question 7

Question 1

Where is most of the world’s
tobacco grown?

a) the United Kingdom
go to question 11

b) Africa
go to question 4

c) China
go to question 7

d) Spain
go to question 9

Question 2

Tobacco is a sensitive plant. 
It requires large amounts of

fertilisers and pesticides to grow.
What might this cause?

a) large beetles
go to question 8

b) pollution of the soil, streams 
and rivers
go to question 10

c) improved conditions for wildlife
go to question 6

d) a return of the hairy mammoth!
go to question 3

Answer 2

Tobacco is a sensitive plant. 
It requires large amounts of

fertilisers and pesticides to grow.
What might this cause?

ANSWER b:
The fertilisers and pesticides used to 
grow tobacco cause pollution. 
The chemicals in the fertilisers and
pesticides can get into the soil and
eventually cause pollution to streams,
rivers, drinking water and wildlife. 

Go to Question 10

Answer 3

Cigarette smoke contains gases
associated with the greenhouse

effect (global warming). 
Which gases?

ANSWER c:
Cigarette smoke contains methane and
carbon dioxide; these gases contribute 
to the global warming which has a
detrimental effect on the environment 
and ecosystems. 

Go to Question 4

Question 4

About 3 million people in the UK are exposed 
to passive smoking (breathing in smoke from 

other people’s cigarettes) while at work. 
In what type of work do you 
think people are most at risk 

of passive smoking?

a) in public transport
(e.g. on buses, the railways)
go to question 11

b) the catering and hospitality 
industry (e.g. restaurants, pubs, bars)
go to question 9

c) the armed forces 
(e.g. navy, airforce)
go to question 2

d) the health and caring professions
(e.g. nurses, doctors, social workers)
go to question 8

Answer 4

About 3 million people in the UK are exposed 
to passive smoking (breathing in smoke from 

other people’s cigarettes) while at work. 
In what type of work do you 
think people are most at risk 

of passive smoking?

ANSWER b:
Workers in the catering and hospitality
industry (in pubs, restaurants, cafes and
bars) are particularly at risk from passive
smoking. The government, trade unions and
the hospitality industry are trying to protect
workers and give people the choice to
socialise in smoke free areas by increasing
the smoke free space in pubs, bars and
restaurants.

Go to Question 9

Question 5

In which part of the world 
are smoking rates falling?

a) developing countries
go to question 8

b) developed countries
go to question 1

c) the new democracies of central 
and eastern Europe
go to question 4

d) Antarctica
go to question 10

Answer 5

In which part of the world 
are smoking rates falling?

ANSWER b:
Smoking rates are falling in developed
countries as people become more aware of
the health risks and as governments
discourage smoking by restricting where
people smoke, raising taxes on tobacco
products, educating the public and
introducing other measures. 

Go to Question 1

Question 6

The government of the USA
has promoted cigarette
smoking in developing

countries. 

a) true
go to question 12

b) false
go to question 5

Answer 6

The government of the USA
has promoted cigarette
smoking in developing

countries. 
ANSWER a:
True - the US government has promoted
smoking in developing countries. After the
Second World War the US government
exported $1 billion worth of tobacco to
developing countries through their ‘Food for
Peace’ programme. In the 1980s the US
government threatened trade sanctions
against countries that would not allow
American cigarettes to be advertised. 

Go to Question 12

Question 7

At the start of the 
21st century 3 million people
worldwide die each year as a

result of smoking. By 2020
will the death rate:

a) increase
go to question 11

b) stay the same
go to question 3

c) fall
go to question 8

d) reach zero
go to question 6

Answer 7

At the start of the 
21st century 3 million people
worldwide die each year as a

result of smoking. By 2020
will the death rate:

ANSWER a:
Increase - by 2020 it is estimated that 
10 million people will die each year as a
result of cigarette smoking. At the start 
of the 21st century 30% of smoking related
deaths occur in developing countries. 
By 2020 it is estimated 70% of smoking
related deaths will be in developing
countries. 

Go to Question 11

Question 8

How can cigarette smoking 
be discouraged?

a) educating people about the risks
go to question 6

b) health warnings on cigarette 
packets
go to question 4

c) increasing the price of cigarettes
go to question 11

d) all of the above
go to question 3

Answer 8

How can cigarette smoking 
be discouraged?

ANSWER d:
All of the methods mentioned are ways in
which smoking can be discouraged. 

What other methods can you think of?

Go to Question 3

Question 9

The UK government is banning
tobacco advertising. 

How do you think the tobacco
companies are getting around

the advertising ban?

a) breaking the law and continuing 
to advertise in newspapers and 
magazines
go to question 12

b) encouraging TV companies to 
place their cigarette packets so 
they can be seen in films and TV 
programmes
go to question 3

c) designing clothes with cigarette 
brand logos on them
go to question 6

Answer 9

The UK government is banning
tobacco advertising. 

How do you think the tobacco
companies are getting around

the advertising ban?
ANSWER c:
The tobacco industry spends around £57
million each year in the UK on advertising
and promotion. The UK government has
banned tobacco advertising. Cigarette
manufacturers have developed designer
clothing labels using cigarette brand logos
to ensure people remain aware of the
cigarette brands and associate them with
something that is considered attractive.

Go to Question 6

Question 10

Environmental Tobacco Smoke
(ETS) is also known as:

a) passive smoking
go to question 5

b) second-hand smoke
go to question 7

c) involuntary smoking
go to question 4

d) all of the above
go to question 8

e) none of the above
go to question 12

Answer 10

Environmental Tobacco Smoke
(ETS) is also known as:

ANSWER d:
It is also known as passive, second-hand
and involuntary smoking. There are two
ways in which ETS is created: by the
sidestream smoke from the burning tip of 
a cigarette and the mainstream smoke from
a smoker exhaling smoke. ETS is the major
source of indoor air pollution. 

Go to Question 8

Question 11

The production of tobacco
causes the destruction of

trees, leading to deforestation
in many parts of the world.
How are trees used in the
production of cigarettes?

a) the wood is smoked
go to question 12

b) to produce the cigarette 
packages
go to question 3

c) to cure (dry) the tobacco leaves
go to question 7

d) answers b and c
go to question 2

Answer 11

The production of tobacco
causes the destruction of

trees, leading to deforestation
in many parts of the world.
How are trees used in the
production of cigarettes?

ANSWER d:
Trees are destroyed in the production of
tobacco to produce cigarette packaging 
and to cure the tobacco leaves. In many
developing countries this leads to
deforestation. Even where the tobacco
manufacturers encourage farmers to plant
trees, the farmers may still use ancient
woodland for tobacco production.

Go to Question 2

Question 12

How many people could be
fed if the land that is used 
to grow tobacco was used 

to grow food?

a) 1 million people
go to question 7

b) 1.5 million people
go to question 2

c) 5 million people
go to question 3

d) between 10 to 20 million people 
go to question 5

Answer 12

How many people could be
fed if the land that is used 
to grow tobacco was used 

to grow food?
ANSWER d:
Between 10 to 20 million people could be
fed if food crops were grown rather than
tobacco. 

Go to Question 5

Question 3

Cigarette smoke contains gases
associated with the greenhouse

effect (global warming). 
Which gases?

a) methane and oxygen
go to question 10

b) carbon dioxide and hydrogen 
sulphide
go to question 8

c) methane and carbon dioxide
go to question 4

d) none of the above
go to question 1
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Question 1

What is in a cigarette?

a) pure tobacco
go to question 8

b) tobacco and tar
go to question 12

c) tobacco, tar, nicotine and 
4,000 chemicals
go to question 6

d) grass
go to question 4

Answer 1

What is in a cigarette?
ANSWER c:
Cigarettes contain tobacco, tar, nicotine and
4,000 chemicals. The chemicals in
cigarettes include acetone, arsenic,
benzene, lead, methanol, carbon monoxide,
and formaldehyde. These chemicals are
also contained in car exhaust fumes, ant
poison, nail varnish remover, petrol fumes.

Nicotine is addictive, tar sticks to the lungs
and makes it harder for smokers to
breathe, and carbon monoxide makes the
blood less able to carry oxygen around the
body. You can see from this information
that smoking is not healthy. 

Go to Question 6

Question 2

At what age do most people
who smoke start?

a) as teenagers
go to question 5

b) in their early twenties
go to question 8

c) when they are middle-aged
go to question 11

d) in the womb
go to question 3

Answer 2

At what age do most people
who smoke start?

ANSWER a:
Most people who smoke start as teenagers.
Eighty per cent of smokers started as
teenagers. In the UK 450 children and
young people start to smoke each day. A
woman who smokes while she is pregnant
affects the growing foetus. Babies and
young children whose parents and carers
smoke around them can have health
problems as a result of breathing in the
smoke from the adults' cigarettes.

Go to Question 5

Answer 3

The majority of people who
smoke would like to quit.

ANSWER a:
True – over 70% of people who smoke in 
the UK would like to quit. The majority of
parents who smoke do not want their
children to smoke. Many people find it hard
to stop smoking because they are addicted.
For many smokers cigarette smoking
becomes a habit. 

Go to Question 1

Question 3

The majority of people who
smoke would like to quit.

a) true
go to question 1

b) false
go to question 10

Question 4

What are the reasons young
people give for starting to smoke?

a) wanting to experiment
go to question 6

b) to look cool and grown up
go to question 5

c) to join in with their friends
go to question 4

d) to show their independence
go to question 8

e) to cope with stress
go to question 2

f) to help keep weight down
go to question 3

g) all of the above
go to question 11

Answer 4

What are the reasons young
people give for starting to smoke?

ANSWER g:
Young people give all of these reasons 
for starting to smoke. Can you think of
better/healthier ways in which young 
people can:

• experiment

• look cool and grown up

• join in with their friends

• be independent 

• cope with stress

• keep weight down 

Young people who smoke are between 
2-6 times more likely to have coughs,
phlegm, wheezing and shortness of breath
than those that do not smoke. 

Go to Question 11

Question 5

What is passive smoking?

a) sharing a cigarette with someone
go to question 9

b) smoking to fit in with friends 
and be part of the group
go to question 4

c) breathing in smoke from 
other people’s cigarettes
go to question 10 

d) smoking while in bed
go to question 7

Answer 5

What is passive smoking?
ANSWER c:
Passive smoking is breathing in smoke
from other people’s cigarettes. Passive
smoking can cause people health
problems, which is one of the reasons
smoking has been banned in many public
places. Many young children are affected
by passive smoking and have to be treated
in hospital with ear infections, breathing
problems, asthma and coughs because the
adults around them smoke cigarettes. 

Go to Question 10

Answer 6

Approximately how many
people in the United Kingdom

smoke cigarettes?
ANSWER c:
About one in four people in the UK smoke
cigarettes, that is 13 million people, 29% 
of men and 25% of women. The number 
of adults who smoke in the UK has fallen
over the last 30 years but the number of
teenagers who start to smoke is increasing.
The majority of people who smoke want to
stop.

Go to Question 9

Question 6

Approximately how many
people in the United Kingdom

smoke cigarettes?

a) 1 in 20
go to question 3

b) 1 in 10
go to question 7

c) 1 in 4
go to question 9

d) 1 in 2
go to question 11

Question 7

What are the health problems
caused by cigarette smoking?

a) HIV and AIDS
go to question 6

b) chicken pox and measles
go to question 4

c) cancer, heart disease, bronchitis 
go to question 2

d) all of the above
go to question 12

Answer 7

What are the health problems
caused by cigarette smoking?
ANSWER c:
Cigarette smoking causes some cancers,
some heart disease and bronchitis. Every
year about 120,000 people in the UK will
die as a result of smoking cigarettes; this
is equivalent to a jumbo jet full of people
crashing every day of the year.

Go to Question 2

Question 8

What impact does the
production and consumption

of cigarettes have on the
environment?

a) causes litter in the streets
go to question 5

b) it produces gases that contribute 
to the greenhouse effect (global 
warming)
go to question 3

c) it causes the destruction of trees 
go to question 7

d) all of the above
go to question 12

Answer 8

What impact does the
production and consumption

of cigarettes have on the
environment?

ANSWER d:
Cigarette smoking has a huge impact on 
the environment. Cigarette packets and
butts (cigarette ends) cause massive litter
on the streets. Cigarette smoking generates
carbon dioxide and methane; these gases
contribute to the pollution of the planet and
the greenhouse effect. Millions of trees are 
used in the production of tobacco, to cure
(dry) the tobacco leaves.

Go to Question 12

Question 9

At what age are people legally
allowed to buy cigarettes?

a) 10 years old
go to question 10

b) 14 years old
go to question 2

c) 16 years old
go to question 4

d) 18 years old
go to question 6

Answer 9

At what age are people legally
allowed to buy cigarettes?

ANSWER c:
Shops are allowed to sell cigarettes to
young people aged 16. It is illegal for shops
to sell cigarettes or any tobacco product to
young people under the age of 16. Shop
owners can be fined up to £2,500 for
selling cigarettes to young people under
16. However some shop owners are
breaking the law and selling to children
and young people under 16. 

Go to Question 4

Question 10

The tobacco industry
encourages people to smoke

by advertising. 
Can smoking be advertised 

on TV in the UK?

a) yes
go to question 4

b) no
go to question 8

Answer 10

The tobacco industry
encourages people to smoke

by advertising. 
Can smoking be advertised 

on TV in the UK?
ANSWER b:
No - Cigarettes cannot be advertised on TV. 

In 1965 tobacco products were banned
from being advertised on TV here in 
the UK. 

Go to Question 8

Question 11

When did the majority of 
the general public first

become aware of the terrible
health risks associated 

with smoking cigarettes?

a) during the First World War 
(1914 to 1918)
go to question 2

b) during the Second World War 
(1939 to 1945)
go to question 5

c) during the 1960s
go to question 7

d) at the start of the 21st century
go to question 9

Answer 11

When did the majority of 
the general public first

become aware of the terrible
health risks associated 

with smoking cigarettes?
ANSWER c:
Members of the general public did not
become aware of the dangers of smoking
until the 1960s. During World War II the
government gave soldiers cigarettes as
part of their rations and cigarettes were
advertised as being healthy. Many older
people who smoke today started smoking
before people generally realised how
dangerous smoking is. For some people it
is now very hard to give up because they
are addicted. 

Go to Question 7

Question 12

Smoking cigarettes or being
in an environment where

people are smoking causes:

a) people’s hair to smell of smoke
go to question 1

b) people’s clothes to smell of 
smoke
go to question 11

c) the furniture, curtains and 
cushions to smell of smoke
go to question 5

d) all of the above
go to question 3

Answer 12

Smoking cigarettes or being
in an environment where

people are smoking causes:
ANSWER d:
Cigarette smoke causes hair, clothes 
and furniture to smell of smoke.

Go to Question 3
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Question 1

What is in a cigarette?

a) pure tobacco
go to question 8

b) tobacco and tar
go to question 12

c) tobacco, tar, nicotine and 
4,000 chemicals
go to question 6

d) grass
go to question 4

Answer 1

What is in a cigarette?
ANSWER c:
Cigarettes contain tobacco, tar, nicotine and
4,000 chemicals. The chemicals in
cigarettes include acetone, arsenic,
benzene, lead, methanol, carbon monoxide,
and formaldehyde. These chemicals are
also contained in car exhaust fumes, ant
poison, nail varnish remover, petrol fumes.

Nicotine is addictive, tar sticks to the lungs
and makes it harder for smokers to
breathe, and carbon monoxide makes the
blood less able to carry oxygen around the
body. You can see from this information
that smoking is not healthy. 

Go to Question 6

Question 2

At what age do most people
who smoke start?

a) as teenagers
go to question 5

b) in their early twenties
go to question 8

c) when they are middle-aged
go to question 11

d) in the womb
go to question 3

Answer 2

At what age do most people
who smoke start?

ANSWER a:
Most people who smoke start as teenagers.
Eighty per cent of smokers started as
teenagers. In the UK 450 children and
young people start to smoke each day. A
woman who smokes while she is pregnant
affects the growing foetus. Babies and
young children whose parents and carers
smoke around them can have health
problems as a result of breathing in the
smoke from the adults' cigarettes.

Go to Question 5

Answer 3

The majority of people who
smoke would like to quit.

ANSWER a:
True – over 70% of people who smoke in 
the UK would like to quit. The majority of
parents who smoke do not want their
children to smoke. Many people find it hard
to stop smoking because they are addicted.
For many smokers cigarette smoking
becomes a habit. 

Go to Question 1

Question 3

The majority of people who
smoke would like to quit.

a) true
go to question 1

b) false
go to question 10

Question 4

What are the reasons young
people give for starting to smoke?

a) wanting to experiment
go to question 6

b) to look cool and grown up
go to question 5

c) to join in with their friends
go to question 4

d) to show their independence
go to question 8

e) to cope with stress
go to question 2

f) to help keep weight down
go to question 3

g) all of the above
go to question 11

Answer 4

What are the reasons young
people give for starting to smoke?

ANSWER g:
Young people give all of these reasons 
for starting to smoke. Can you think of
better/healthier ways in which young 
people can:

• experiment

• look cool and grown up

• join in with their friends

• be independent 

• cope with stress

• keep weight down 

Young people who smoke are between 
2-6 times more likely to have coughs,
phlegm, wheezing and shortness of breath
than those that do not smoke. 

Go to Question 11

Question 5

What is passive smoking?

a) sharing a cigarette with someone
go to question 9

b) smoking to fit in with friends 
and be part of the group
go to question 4

c) breathing in smoke from 
other people’s cigarettes
go to question 10 

d) smoking while in bed
go to question 7

Answer 5

What is passive smoking?
ANSWER c:
Passive smoking is breathing in smoke
from other people’s cigarettes. Passive
smoking can cause people health
problems, which is one of the reasons
smoking has been banned in many public
places. Many young children are affected
by passive smoking and have to be treated
in hospital with ear infections, breathing
problems, asthma and coughs because the
adults around them smoke cigarettes. 

Go to Question 10

Answer 6

Approximately how many
people in the United Kingdom

smoke cigarettes?
ANSWER c:
About one in four people in the UK smoke
cigarettes, that is 13 million people, 29% 
of men and 25% of women. The number 
of adults who smoke in the UK has fallen
over the last 30 years but the number of
teenagers who start to smoke is increasing.
The majority of people who smoke want to
stop.

Go to Question 9

Question 6

Approximately how many
people in the United Kingdom

smoke cigarettes?

a) 1 in 20
go to question 3

b) 1 in 10
go to question 7

c) 1 in 4
go to question 9

d) 1 in 2
go to question 11

Question 7

What are the health problems
caused by cigarette smoking?

a) HIV and AIDS
go to question 6

b) chicken pox and measles
go to question 4

c) cancer, heart disease, bronchitis 
go to question 2

d) all of the above
go to question 12

Answer 7

What are the health problems
caused by cigarette smoking?
ANSWER c:
Cigarette smoking causes some cancers,
some heart disease and bronchitis. Every
year about 120,000 people in the UK will
die as a result of smoking cigarettes; this
is equivalent to a jumbo jet full of people
crashing every day of the year.

Go to Question 2

Question 8

What impact does the
production and consumption

of cigarettes have on the
environment?

a) causes litter in the streets
go to question 5

b) it produces gases that contribute 
to the greenhouse effect (global 
warming)
go to question 3

c) it causes the destruction of trees 
go to question 7

d) all of the above
go to question 12

Answer 8

What impact does the
production and consumption

of cigarettes have on the
environment?

ANSWER d:
Cigarette smoking has a huge impact on 
the environment. Cigarette packets and
butts (cigarette ends) cause massive litter
on the streets. Cigarette smoking generates
carbon dioxide and methane; these gases
contribute to the pollution of the planet and
the greenhouse effect. Millions of trees are 
used in the production of tobacco, to cure
(dry) the tobacco leaves.

Go to Question 12

Question 9

At what age are people legally
allowed to buy cigarettes?

a) 10 years old
go to question 10

b) 14 years old
go to question 2

c) 16 years old
go to question 4

d) 18 years old
go to question 6

Answer 9

At what age are people legally
allowed to buy cigarettes?

ANSWER c:
Shops are allowed to sell cigarettes to
young people aged 16. It is illegal for shops
to sell cigarettes or any tobacco product to
young people under the age of 16. Shop
owners can be fined up to £2,500 for
selling cigarettes to young people under
16. However some shop owners are
breaking the law and selling to children
and young people under 16. 

Go to Question 4

Question 10

The tobacco industry
encourages people to smoke

by advertising. 
Can smoking be advertised 

on TV in the UK?

a) yes
go to question 4

b) no
go to question 8

Answer 10

The tobacco industry
encourages people to smoke

by advertising. 
Can smoking be advertised 

on TV in the UK?
ANSWER b:
No - Cigarettes cannot be advertised on TV. 

In 1965 tobacco products were banned
from being advertised on TV here in 
the UK. 

Go to Question 8

Question 11

When did the majority of 
the general public first

become aware of the terrible
health risks associated 

with smoking cigarettes?

a) during the First World War 
(1914 to 1918)
go to question 2

b) during the Second World War 
(1939 to 1945)
go to question 5

c) during the 1960s
go to question 7

d) at the start of the 21st century
go to question 9

Answer 11

When did the majority of 
the general public first

become aware of the terrible
health risks associated 

with smoking cigarettes?
ANSWER c:
Members of the general public did not
become aware of the dangers of smoking
until the 1960s. During World War II the
government gave soldiers cigarettes as
part of their rations and cigarettes were
advertised as being healthy. Many older
people who smoke today started smoking
before people generally realised how
dangerous smoking is. For some people it
is now very hard to give up because they
are addicted. 

Go to Question 7

Question 12

Smoking cigarettes or being
in an environment where

people are smoking causes:

a) people’s hair to smell of smoke
go to question 1

b) people’s clothes to smell of 
smoke
go to question 11

c) the furniture, curtains and 
cushions to smell of smoke
go to question 5

d) all of the above
go to question 3

Answer 12

Smoking cigarettes or being
in an environment where

people are smoking causes:
ANSWER d:
Cigarette smoke causes hair, clothes 
and furniture to smell of smoke.

Go to Question 3



Smoking Education Card
Game for children (9+),
young people and adults





Smoke Rings provides children, 
young people and adults with
opportunities to:

• increase their knowledge and understanding of 

smoking related issues, 

• discuss and debate important issues about 

health, the environment, government controls, 

the law and patterns of behaviour

• identify different sources of accurate, 

up to date information

• work co-operatively in small groups 

For school based smoking education to be effective

a whole school multifaceted approach is required. 

For example, recent research from John Moores University

in Liverpool (Porcellato 1999) indicates that smoking

education is more effective for primary school children if

parents, carers and other family members are involved. 

Pupils, parents, teachers and non-teaching staff need to

be involved in the development of the school no-smoking

policy to ensure it is understood and supported. Ideally 

the wider school community, for example local

shopkeepers can be made aware of the smoking

education work that is taking place in the school through

community meetings and work with the local media. 

Smoke Rings can be used to effectively address the

knowledge component of smoking education within the

personal, social, health and citizenship framework. It can

be used as a starting point for students in their

programme of smoking education and throughout the

programme to reflect on and increase learning or 

as review tool.
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